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SECTION — A (Marks 12)

Time allowed: 20 Minutes
NOTE:- Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/B/C/D. Each part carries one mark.

(i) Which of the following quantities will contain a mole of Oxygen gas?

A, 32gmofO, B 14gmofCO C.  16gmofO, D.  64gmofO;
(i) Compound which can accept a proton is called

A. Bronsted acid B. Bronsted base C. Lewis acid D. Lewis base

(iii) Which of the following acids is present in tamarind?

A Formic acid B. Lactic acid C. Tartaricacid  D. Citric acid
(iv) The percentage by mass of Sulphuric acid in a fully charged lead storage battery is

A 30% B. 25% c. 15% D. 20%
(v) in copper plating, the electrolyte used is

A, K,S0, B. Cuso, o} Cr,(S0,), D. PBSO,
(vi) The solubility of which compound decreases with increase in temperature?

A, NaNo, B. Li,CO, G, AgNO, D. KCl
(vii) The example of a solution in which gas i.s solute and solid is solvent :

A Air B. Alcohol in water

C. Hydrogen gas absorbed in Pailadium  D. Smoke

(viii) Who discavered the phenomenon of diffusion of gases?

A Rutherford B. Graham C. Lewis D. Bohr

(ix) Sulphuric Acid was discovered by

A. Al Jahiz B. Berzelius C. Aristotle D. Jabar bin Haiyan
(x) Which of the following pairs of atoms forms a pure covalent bond?

A. Sodiumn and Chlorine B. Hydrogen and Chlorine

C. Hydrogen and Oxygen D. Chiorine and Chlorine

(xi) What is the unit of ionization energy?

A Nanometer B. Mole (6 UAJo!e D. kg, Niole

(xiy  The natural abundance of LO" is
A. 0.037% B. 0.204% C. 70% D. 99,76%
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CHEMISTRY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

SECTION — B (Marks 33)
Q.2 Answerany ELEVEN parts. The answer to each part should not exceed three to four lines. (11x3=133)

(i) a. Which incident of life was responsible for the beginning of the subject of chemistry? 01
b. Wha introduced the concept of four elements on earth? Also name the elements. 02
(i) Aluminium metal reac:s with oxygen to produce aluminium oxide. How many grams of oxygen

will be required to react completely with 0.3 moles of Aluminium? 03
(iii) Artificial radioactivity is the useful process.
a. Name the particle discoverad by this process. 01
b. Give the equation involved in this process. 02
(iv) Differentiate between lonic and Covalent bonds giving one example of each. 03
(v) a. What is the frend in ionization energy down the group? 1%
b. What is electron affinity? 1%
(vi) Explain the diffusion of liquids with the help of experiment. 03
(vij  Calculate the amount of Sodium hydroxide required to prepare 500cm®of 0.1 M sodium
hydroxide solution. 03
(wviii) Differentiate between Colloidal solution and Suspension. 03
(ix) What are the objectives of electroplating? 03
(x) a. Define Basicity. 02
b. How can the acidic nature of soil be decreased? 01
(xi) What are Salts? 03
(i) The following reaction takes place when carbon is burnt in excess of oxygen:
Cisy ¥ Oyey ——>COy, AH =-393.5k]
a. Is the above mentioned reaction  exothermic or endothermic? 01
- b How much heat will be evolved when one gram of carbon is burnt in excess
of oxygen in the same way? 02
(xii)  How can the strength of an acid be determined? Write down the equation and find
the ionization constant of acid. . 03
(xiv)  Define Empirical formula and Decomposition reaction, giving one example of each. 03
(xv) How was Nucleus discovered? 03
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 How was electron discovered? Describe the properties of cathode rays. What is the charge in
coulomb and mass in kg of electron? 2+6+2
Q.4 a Write the valency and formula of the following Radicals 05
(i) Sulphite (ii) Nitrate (iif) Permanganate
(iv) Phosphate (v) Dichromate
b. Complete and balance the following equations: 05
(i) CaCO, + HCl —— (i1) Zn(NO,), —— (iii) B+8Si0,——>
(iv) Al + Fe,0,—> (v) NaOH + H,50,—>
Q.5 \What do you understand by Soda Ash? Write its formula. Write the different steps of solvay process
and also draw the flow sheet of the process. 1+1+6+2
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CHEMISTRY SSC-I
SECTION — A (Marks 12)

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deletingloverwriting is not allowed. Do not use lead pencil.

Time allowed: 20 Minutes

Q.1 Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

(i) The concept of four elements on earth was introduced by

A Avistotle B, BuAiSina C.  AlKundi D.  Empedocles
(ii) What is the ratio between the atomic masses of Sodium and Oxygen atom?

A 11:8 B. 23:16 C. 258 D. 211
(iii) The lowest temperature achieved by mixing Sodium chloride with ice is

A. -55°C B. -10°C C. -12°C D. —20°C

(iv) What do Beta rays produce when they pass through a gas?
A. lon B. Atorn c. Molecule D. All of these

(v) According to Bohr's atomic model only those orbits are permissible whose angular momentum

"myr" is equal to

A L g 2, c. ”% i m e
(i) ‘s’ and 'p’ block elements are called
A. Inner Transition elements B. Representative elements
C. Zero group elements D. Outer transition elements
(vii) Aluminium produces oxide which is
A. Acidic in nature B. Basic in nature
C. Amphoteric in nature D. Neutral
(wviii) When sodium forms an ionic bond it gains electronic configuration of 4
A He B. Xe C. Ar D. Ne
(ix) 50 gm of sodium chloride solution contains Sgm of sodium chloride. Its percentage by mass is :
A, 10% B. 12.5% c 0% D. 40%
(x) The unit of the quantity of electricity is called .
A Ampere B. Velt C. Coulomb D. Hertz
(x1) Which is a sublime solid?
A. Carbon B. Sulpher C. Sodium D. Naphthalene
(xii) During an exothermic reaction
A. The apparatus used is cooled down
B The apparatus used gets hot
C. The total energy of the products decreases
D. Both B and C
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CHEMISTRY SSC-|

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

SECTION — B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x3= 33)

(i) 2H,,, + Oy —>2H,0, AH =+5T1.6k
a. Classify the above reaction as endothermic or exothermic. 01
b. State whether the energy of the product is greater or less than the energy of the reactant. 01
(o What is the heat of formation of one mole of water? 01
(ii) a. What is the pH to grow apple? 01
b. How can we find the pH of a solution? 01
c. If H* ion concentration is 107 what is the nature of that solution? 01
(iii) Differentiate between Anode and Cathode. 03
(iv) Calculate the electrochemical equivalent of sodium (,,Na™). 03
v) When a solute is added to water heat is either released or absorbed.
a. How is alcohal ( C;HsOH) ) dissolved in water? 02
b. Give an example of solution formed when solute is liquid and solvent is gas. 01
(vi) a. Why does ice float on the surface of water? 01
b. What do you understand by dipole—dipole forces? Give one example. 02
(vil)  What is a Polar Molecule? Give example. 03
(viiiy  a. What is Octet Rule? 01
b. \What are the properties of covalent compounds? 02
(ix) Which element will have the larger atomic size in the following pairs? Give reasons for your answer.
a. Fe or Ni b. Al or P c: Cu or Ag 1+1+1
(x) An element has atomic number 26 and mass number 56
a. Find out the number of neutrons in it 01
b. Write the electronic configuration of the element. 01
c. Draw the structure of the element. 01
(xi) Wirite the formula and valency of the following radicals:
a. Thiosulphate = b. Permanganate c. Acetate 1+1+1
(xi) a What is ionization energy? o1
b. Which compound imparts ginger colour to the hair? 02
(xii)  The fermentation of glucose (CeH120s) takes places according to the following equation:
CeHy,0 — 225 2C,HOH + 2C0,
How much glucose will be used to produce 200mg of ethyl alcohol (C,H,OH) ? 03
(xiv)  What faciliies have been provided by Chemistry? 03
(xv)  Balance the following equations:
. Zn(NO, )y5)—> Zn0;5) + NOyg + sy 01
b. CyHgS,, ¥ 0y — co, o HyO0p + Sc)zm 01
[+ Na,SO0y5, + Hyyy —> NaySigy + H,0,, 01
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 Explain the popular method of preparing Sodium carbonate. Also draw a flow sheet diagram of the
processs 8+2
Q.4 Why do atoms form Chemical Bonds? Explain the different types of bonds with examples. 2+8
Q.5 Explain Bohr's atomic model. In what way this model is better than Rutherford's model? I

What do you understand by the terms Proton number and Nucleon number?
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